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1. (a) A product passes through three processcs_ﬂ, B and C in SAM Company. 20,000
nits of raw materials were introduced in process A at T 20 per unit. ¢
7S |

units of raw MaRCTEs —2 - — ———

[ Pparticulars Process— A | Process—B | Process=
Sundry Materials 20,000 30,000 10,
Labour 1,00,000 1,60,000 1480,
Indirect expenses 20,820 17,360 2 8 ‘
Normal wastage 3% 4% .\
Actual wastage ' 4% 5%
vield of wastage | |

Perunit 2.5
Prepare the process Accounts with AE d Abnormal gain accounts.

4 C. The joint expenses of manufacture

(a) (1) Product A yields b
| are as under. 7
ALV
Materi )
Lafd \ 4,000
. \Overhead Expenses 16,000
_ ' . | 40,000
" pSeparate expenscs are as under :
‘ AR | B [ CR)
Materials 3,000 | 2,600 | 2,000
Labour 400 300 200
Overhead expenses 1,600 | 1,100 800
1 5,000 | 4,000 [ 3,000
Selling price . | 60,000 48,000 | 40,000
Estimated profitonsales | 30% | 25% | 20%
By 8 Show how would you allocate joint expenses of production.
(2) Write short notes on ' . 7

(1) Joint product and by-product.
(2) Normal and Abnormal loss

0C-126 . 9.




(b) In the following sub questions more than one answer is given, of which only one
answer is correct. You have to select the correct answer : (any four) 4
(1) Units introduced 10000 units, actual production 8500 units, Normal wastage
10% of input. Find out the units of abnormal wastage.
(@) 1500units  (b) 1000units (c) S500units  (d) 850 units

(2) Inwhich of the following industry process costing is not 1mplcmented 7
(a) Dairy product ; (b) Soap industry

~ (c¢) Construction work . (d) Rubber mdustry

(3) Combined product means
(a) Production of two items of same cost.
(b) Production of two items of same selling price. ‘
(c) Production of two same important item. ’*
(d) Other product of low important, "

(4) From thnj:. following, which item is not releva
(a) Abnormal gain | |
(c) Escalation

(5_) Per unit cost of final product will be equal to the per unit amount of
abnormal loss or gain

- (@) Incumplete

Fa (c) True .- (d) Can'tsay

(6) S 1 ed in process accounts ? |
(a) - Salary (c) Donation (d) Material
5 (a) Tf'p dict of Rimaditd. through three processes namclyA B and C, then
| it is‘transfe

d tc ﬁmshed goods stock. The information is given below for the
31% March 2018. . 14

Process-A | Process-B Prrcesf-C' Finished
®) @ | ® Stock - |
1 - ®)
Opening Stock 40,000 | 56,000 20,000 | 1,20,000°
Direct Materials 60,000 84,000 [ -1,52 DUO -~
Direct Wages - 80,000 60,000 44, 000 | - \
Factory Overheads 48,000 24,000 _1,60,0[}0 -
| Closing Stock 20,000 | . 24,000 16,000 { 60,000
Inter process profit for| | + 2 S
opening stock - | - 8,000 - 8,000 44,0_.00\
Profit percentage on| " " :
transfer price h

0C-126 oy < L o MW R B o e
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(a)

and finished goods closing stock has

Stock in process are valued at prime cost
s C. Sales dunng the

been valued at a price from which it is received from proces
year was < 16,00,000.

Prepare :
(1) All Process Accounts
(2) Finished Goods Stock Account

3) Statcmcnt of actual realuzed proﬁt
OR

Kamal Ltd., furnished the following data
March 2018.
3000 units at total cost of  15,000.

(1) Opening stock of work 1n process
cost of T 90,750.
§

in respect of Process No. 1 for the
| 14

j?

(2) Inputof material 30000 units at total
(3) Direct labour incurred T 1,09, 200
(4) Production overheads ¥ 53,100

(5) Unit scrapped 3,750
6) Closing stock of work in process () units.

(7) 27000 units were completed and transferred to n(

(8) Normal loss is 10% of total input (opening St0

(9) Wastage s sold at ¥ 2 per unit

(10) Degree of completion
Openm

Sto¢

Brnormal
| wastnge

i) .’ 100%
0% g 60 100%
40% | 100%

'Bquivalent production (on the basis of FIFO method)

h only one
4

following sub questions more than on¢ answers is given of whic

ot. You have to select correct answers : (any four)
¥ One may use the “Three columnar method” to prepare process account to
calculate the unrealized profit in stocks and to calculate the transfer price :

(a) Incomplete (b) False (c) True (d) Can’tsay

(2) Production cost of Process No. 1 is T 50,000 if profit is added at 20% on transfer

price or 25% on production cost, show the amount of profif in both the cases.

(a) ¥ 10,000 and 10,000 (b) ¥ 12,500 and 10,000
() ¥ 12,500 and 12,500 - (d) None of these

- . RTO.




the stock of work in

(3) To find out the expected cost of finished production,
ement of the cost.

progress is to be converted into finished units for each €l
(a) Incomplete (b) False

() True 8 |l (d) Can’tsay
(4) In equivalent production’ of process account, which statement
Particulars| Total

prepared to find material cost per unit ?
Tl 4.00,000|3,50:000},50,000 |

(a) Statement of equivalent production
"stock of process fA‘ is as under :

(b) Process account
(c) Statement of cost

() 25,000
(d) Nil

is to be

(d) Statement of evaluation
(5) Which one of the following enterprises would m‘
costing system ?
(a) Bakery
(c) Beer brewery
(6) InProcess ‘A’ ACEEI_I_II:

—

like

”Elasing;t;ck!'lo,ﬂ g Of sing
(a) T22,857 |

sh Ltd., are as follows :
Result ()

15,000 loss
15,000 profit

Find out :
(1) Fixed expenses
(2) ‘Break even point (in unit)
(3) The profit at sales at 15000 units
(4) Required sales in units to earn a profit of ¥ 60,000
Thc ratio of variable cost to sales is 70%, the break point occurs at 60%, of

the capacity of sales and production, Fixed expenses are ¥ 1,35,000.

Calculate :

(i) Break even sales

(ii) Total sales and profit
(ili) Profit at 75% sales

2)

OR
12
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(@ (1) Bhavin Co. Ltd., manufacture two products A and B. The following details
relate to two products : | | "
Particulars

Direct Materials
Direct labour hours (wage rate T 1 per hour) 5 hours | 2 hours |

Variable overheads (on direct labour) 80% 80%

Sales price 329 |X19.60 |
Total fixed overheads ¥ 10,000, if the labour is in short supply then

~ production of which product is profitable ?
If the production capacity of factory is 2000 units of A and 4000 unit

and 8000 labour hours are available then how much of each ".)duct sh

be manufactured to get maximum profit ? N \ 5
J\ $ 7

given of which only one

(2) Explain:
- (i) Relevant cost
(i1) Sunk cost
- (iii) Step cost

dn r

(b) In the following sub questions more tha
answer is Correct, you have to selec @ : (any three) 3
(1) If fixed expenses are $#1,20,000; iable expenses are of T 12 per unit,
break even point i ' t will be the selling price per unit ?
(@) 04 by 36
(c) 1 (d) None of these o
i0 18.50%, margin of safety is 40% and sales is Y 10,00,000, fixed
E ‘ ' | v
3,00,000 () ¥5,00,000 |
< 1,00,000 (d) 7,00,000
Fixed costs are to be recovered from the domestic sales, not from the cxﬁorts
(@) True (b) False
(c) Incomplete (d) Can’tsay
4) ____ isused when the total figures only are available.
(a) p/vratio ~ (b) Contribution per unit
(c) Per unit variable cost. (d) Can’tsay |
(5) Which of the following costs are usually not relevant ?
(@) Sunk costs ' (b)  Opportunity costs
(&) Incremental variable cost  (d) Incremental fixed cost

oc16 | 13 . P.T.0.



4. (ﬁ) A Ltd. and B Ltd. were amalgamated on and from 1-4-2017, a new company C
| Ltd. was formed to take over the busmess of both the existing compames The -

balance sheet on that date is as under : 14,

[ Particulas ______ Note | ALtd. [ BLt. |
) KR N

(1) Equities and Liabilities + - - _

| @ Shareholder’s Fund : 2 e, o i | 4

"ol 5 (a) Share Capital | , ’*‘

| Equity share of ¥ 100 each fully paid up

12% preference share of ? 100 each fully pald up 3,00 F

(b) Reserves and Surplus : ‘ ~ 1

o \ A General Reserve 25.%3 1,50,000 H
: 45,000 |.

1,20,000| 60,000 | |

90,000 | 60,750 |

| Investment allowance reserve

e Export pruﬁtres.crve
Profit and loss account

(1) Non-current liabilities

g oo (a) Long term borrowings 75,000 52,500 .

__ (1) Current Liabilities

Vel (a) Trade payab

| _ 2
1,35000| 60,000 ¢
22,500 | - 15,000

Total | 19,42,500 | 14,18,250 (

ssets : | _ | «q |
d_ assets | |
(1) Tangible assets

Land and Buildings .| 750,000 4,50,000

| Plant and Machinery - 4,50,000 | 3,00,000 i
(b) Non-current Investments 3,00,000 [ 1,50,000 |
(u) Current Assets : | ‘ PR -I
(a) Inventory ; Stock ,' . i & -1 1,95,000 1,05,00(:) I'*.“I

e .(b) Trade recewable. Debtors

- Total




Addiﬂonal Information :
(1) CLu. issue 4 equity share

share for each 4 equity shares
face value of T 100 each.

' each having
(2) Preference shareholders of two comp
" 15% preference share of C Ltd. eachof T 100 at a price
(3) 12% Debentures of A Ltd. and B Ltd.
f it's 15% debentrucs

such number O
- same amount of interest.
(4) Statutory reserves are to
vou are required to prepare th
has been carried out on
(1) -Amalgamation is in
(2) Amalgamation is in the na

the nature of merger
ture of purchase

OR

of Géet and Sangeet Ltd. as on 31-
Note [

(a) The Balance Sheet
Particulars

be maintain_cd fo_r 2
e Balance Sheet of |
the basis of following assumptions :

03

more years.
C Ltd., after t

i Y L]
'-... - - - b 3 8
-l "
e — R %

(1) Equity and Liabilities ;
(i) Shareholder funds ; |
(a) Equity share capital
(b) Reserves and Surplus ;
Dividend equalization fund
Reserves -
| . Profit & Loss Account /.
(ii) Non-current Lidbilities #i0bng term borrowings ;
Debenturesi - " 4
(iii) Currcnt"'Liﬁhilitié;s;'Traﬂé Payables
@ Creditors
¢\(b) " Bills Payables |
N | R Total
(2)gAssets;) -
Q0 4 Non-current Assets;
* (a) Fixed Assets .

L

(1) Tangible Assets; Machinery
(2) Intangible Assets; Goodwill
(b) Noncurrent Investment; Investments

(ii) Current Assets;
(a) Inventory; Stock
(b) Trade receivables ;

Debtnrsl | |
Bills Receivables

| (c) Cash and Cash equivalents ; Cash

are discharged by C Ltd.,
of T {00 each so as to md

~ 1,60,000

\

"1,30,000

2,40,000
.1,20,0000
40,000

40,000 |

|

30,000
40,000 |

0C-126
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1,10,000

18,000

Total [ | 6,40,000 | 6,80,000

for each 3 equity shares of A Lid, and 3 equity
of B Ltd, The shares are (0 be issued at ¥ 110)

anies are issued equivalent number of
of T 120 per share.
by issuing

intain the

he Amalgamation

1,00,000

40,000 |

e o



It was agreed that Sangeet Ltd. will absorb Geet Ltd. on this date.
The purchase consideration.was to be discharged by issue of shares 10 Sangeet
Ltd. on the basis of intrinsic values of shares. The face value of shares of Geet
Ltd. was ¥ 10 per share on which ¥ 5 per share was paid up. Whereas the face
value of shares of Sangeet Ltd. was %10 on which T 4 was paid up-: Debtors of
. Sangeet Ltd. includes ¥ 10,000 due by Geet Ltd. All bills payables of Geet Ltd.
are drawn by Sangeet Ltd. Stock of Geet Ltd. inciudes goods valued at T 20, 000
purchased from Sangeet Ltd. which has sold goods so as to reahze 25% pruf it on
sales. 4
Draft journal entries in the books of Sangeet Ltd., and prepare its opening 3alan
Sheet.

(b) In the following sub questions more than one answer 1S glven. offwhich on
answer is correct, you have to select correct answer : (any thr

(1) If the market price of the shares not to be given for purc
' to be.d

at the time of absorption of the share ] e
(a)  intrinsic value (b) fairv _ "
(c). face value (d) yield | b
(2) When liquidation expenses are the seller company then it 51 |
is debited to - )
(a) Real:zetmn Ac Account o | 5,,,'*5....-2"-"J
(c) Goodwill Capital Reserve Account |
@) It twe&m ounting policies in respect of the same
. item tlnv\v neeessary changes to adopt accounting - 48
LIFO method )
. ' . O method * (d) Weighted method o L
| e Amalgamation Adjustment Account appears in the books, it is shown 1 i‘
. ‘ under the headingsof in the Balance Sheet. ‘ L [
| | (a) Non-current Assets (b) Current Assets | * : |
= (c) Reserves and Surplus (d) Non-current Investments | 1
- (5) - Shares received from the new company are recorded at . | o
(a) Market value (b) Face value ' i
() Average price ~(d) ‘None of these

e — ————

0C1%6 ; | 1.6 | R




